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B. You want to store 374 distinct names in a binary search tree (BST): 573 ok il )+ DKM
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1. (3 pts) What’s the maximum depth possible, and how is such a BST created? orde~ st TRen ve-
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3. (3 pts) Assume we create a minimum-depth BST. What's the greatest number of comparisons
possible when conducting a binary tree search, in the worst-case? S /v-c-.7 L4 K a 8&
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F. Given this positively weighted graph: u\'o’k, '- v} M'{"
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Suppose we want to find the shortest path from node a to node j, and we use Dijkstra’s algorithm.
The distance between a and j is 18. If j is the last node settled,
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1. what do we know about the distances w;? ’:—'7 " 'D (53 = Z ")

2. what is the distance between a and each node?

D(j)=ni4()8,§“‘;) , ia parh) cnle, "

! 'o o\ c.[ 'ﬂﬁe. nw
| comrQ.'an ox‘i\a%\ O\Bhﬁc{«%?):mi‘;n B ‘> d%\&s&n‘i 00) 1\%

C cfmus

! |

‘lv\ th» CO\merA 0“‘0(‘)\ ;)
ab sem)\ onc

R I (T 0 O O 0
um?é;. '\&tnw}«l Mﬁzmgom?&{" > @'b.qw:v.\;: JD;CT:!O..’\F{.: ):ﬁ(—o : (
i CM g " n 5 U, O L 1O 1 s SO (98
/)Mm 2

cnnm.mwum o g xw,\ Asﬂx[»




I) ) §Y cont b quoioted wthaonyue mmbes \/ |

2 w 72 2t Gor fle empy 0P dittegnt aumbprs /

3) All the integers with distinct digits in decreasing order from 0 to 9876543210.



Part 3: these graphs are complete graphs of order (n-1) with a vertex of degree 1 tacked on. Sophia’s is
not the correct answer, but it's my bad: | didn’t cover this example this semester, so you probably
wouldn’t have known or seen the formula (n”*(n-2) for a complete graph of n vertices). So what | looked
for especially was a good guess, and a check that a proposed formula worked for the case of 4 vertices
(the case we had here). On that count, Sophia did great!












